D

The LCM of two numbers 1s 1200,
Which of the following cannot be their

HCF?
(1) 600 (b) 500
(¢) 400 (d) 200

L.

7Tx11x 13 + 13 1s
. a prime number
»a composite number

"an odd number
divisible by 5.

The decimal representation of a rational

number £ is a terminating decimal

q
only if for non-negative integers m and

n, prime factors of g are of the form:
(a1} 2M x 3 6y 3m x An
(c1 3" x 1" el 2M x B
The reciprocal of an irrational number
is: |
(ct) an integer (h) a rational
(¢) a natural number
(¢/) an irrational

|CBSE 20121
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5. After how many digits will the decimal
3

expansion of s come to an end?

(1) 4 () 3
(c1 § («l) 92,

(e n?—11is divisible by 8, if n 1s:
‘¢ an integer '/ a natural number
(¢ 1 an odd natural number

¢/ an even natural number

L. The decimal expansion of number
441
22 x5 %7

‘1) a terminating decimal

has:

‘4 non-terminating but repeating
‘v non-terminating non-repeating

/' terminating after two places of
decimal JCBSE 2ty

22 .
Qe Tf""‘:“ 1S,
{

(cr) rational number
(1 natural number
(¢l zero

(/1 irrational number
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9. ‘@ and ‘b’ are two posilive integers,
where a > b and ‘b’ is a factor of ‘@’, then
"HCF (q, b) is:
() b (b a

b ) =
() a Vel =
b

to-If the HCF' of two numbers is 1, then

the two numbers are called:
{¢:) twin primes (/' composite

(¢} co-primes (" perfect numbers

LI.If the LCM of 12 and 42 is 10 m + 4,

then the value of ‘%’ is:

(a) 50 (0) 8
(c) -;— (d)1 [CBSE 2012]

| 2.» The prime factor of 2 x 7 x 11 x 17 x 23
+ 23 1s:

¢ (Hi 11
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| X The graph of the eguation y = ax® + bx

- . } % At - OI; RSP ol SN ', e
+ ¢ is an open downward parabola, if 227 qcadr&-hc polynomial whose 2¢rces
are 5 and - 2 is:

(e} i
icraqa = 1 = p i % P )i
cla=0 (dra=1. (ci2* 432 =10 1 =22 =10

L The graph of the equation y = ax? + bx _
+ ¢ is an open upward parabola, if 2. The sum and product of the zerces of

iuia>0 bia<0 | the polynomial 82% - 5 respectively are
. = | o a
tcra=0 idia=-1. im0, -= 0, 2
T o o)

|5~ The degree of a non-zero constant | i
polynomial is ! 0, — 40, —=
t) 0 ihy 1 “
- (d1 3. [HOTS]

| & Ifcand P are the zeroes of the polyno- 2 irgand P are zeroes of
mial 252 + 5x +1, then the value of
a+d+afis
@r—2 iBi=1 then the value of ! + 3! is=:
icil icd'3 |CBSE 2012}

plx)j=2r —x ~

o

@y | e
I
(O | bt

| F- If the sum of the zerves of the guadratic
polynomial 3x® — &x = 6 is 3, then the
value of & is
i) 9 613

fel—3 (16 [CBSE 2012]

b | -
[ [ Jreot

l‘_,w

| Q. If crand j are the zeroes of the polyno-
mial 2¢2 + 5x +1, then the value of

a+ P+ ais

“'"i—‘) A""‘-l
- —

¢ r “y Wl 3 T A ‘_‘-?‘.
;.-Ql TTARS T L Poh .

1 9. Ifthe sum of the zerees of the quadratic
polynomial 3x? - &x + 6 is 3, then the
value of & 1s

1 9
.-\!'\‘\'.?_‘ Oy e

e1=3 TIAR U L& S LA D

{
W e - W i
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23 - The age of a son is ene-third the age of 29.The solution of the pair of equalions

| his mother. If the present age of mother z-y=0
| is x years, then the age of the son afler 2-y=2
12 years is is
N = = byx= 2. =2
3 c)x=3, y= 3 (dyx=4, y=4.
()x+4 (d) £ _19. (HInt. Test the options)
3 )

! 3 0 The solution of the equations

2.4, Ifthe unit's and ten's digit of a two digit X Y _o
number are y and x respectively, then a b~
the number will beo _ ik .ty a7 <=b®
is
J(a)l()x+y ' (t’))l(]yq.x lg)x=a, y=b (b).r=—a.y=-b
(C)x+y (t) xy. (c)x=a,y=-b (dx=-a,y=b.
’ 25 The pair of equations (Ilint. Test the options)
I x=10Q
IE y=0 3|+ The value of k for which the system of
l represents cquations
I (a) parallel lines ax-iy i ? 5
| (b) coincident lines e

. . . has a unique solution is
(c) intersecting lines and are perpen-

i & _ 2 . 2
J‘ diculor (gl k = F (ka..—§
{d) non-intersecting lines. kel P

=5 5

Q & ¢+ The point of intersection of the lines

represented by 3x - 2y = 6 and the “3 2.« The value of & for which the system of

S equations

y-axis is: Sx-4y+7=0

(a) (2, 0) (0) (0, -3) kx+3y-5=0

(c) (<2, 0) (d) (0, 3). has no solution is

InNner nnton (m% (h)——'?-

&3« The area of the triangle formed by the o 4 W 4

coordinate axes and the linex + y = 6 1s 9 , 9’

() 6 (b 12

()18 (el1 36. [HOTS]

2.8 The area of the triangle formed by the
coordinate axes and the line

& o :
=4+ =11
a b :
’G)ab ‘b’ -lﬂb
;vi.’f. ! 2
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33 IfAABC ~ A DEF, £ C = 60°,
£ZB=75°then £ F =
() 45° (D) 75°

(c) 60° () 90°,
A% A ABC and A DEF are two similar tri-

angles such that £ZA = 45°, Z F = 56° |

then £ C is equal to:
() 45° (&) 56°
(c) 101° (d) 79° (CBSE 2012)

35 Thelength of the shadow ofa 12 em long
vertical rod is 8 cm. At the same time,
the length of the shadow of a tower is
40 cm. Find the height of the tower.
(a) 60 m (b) 60 cm
(c) 40 em () 80 cm.

[

The lengths of the diagonala of ,
rhombus are 8 ecm and 6 cm. Then the
length of each side of the rhombus is

36

() 2 cm (b)Y 3 em
_ic)dcm ()5 em,
27 The height of an equilateral Lriangle of
side a 18
(a) -g— (0) a3
(c) i‘;—g (d) -‘1—4@.

38.In a triangle, the internal bisector of an
angle bisects the oppusite side. Find the

nature of the triangle.
(a) right angled () equilateral

f¢) scalene (d) isosceles.

|
31ADEF ~ A ABC. If DE: AB=2:3 and
ar (A DEF) is equal to 44 square units.
Then ar (A ABC) in square units is:

(a) 99

tHri 120

{c) 17~6 tef+ 66
[{CBSE 2012]

ar(A ABC) 9

~ . If ————— = — and
o A ABC ~ A PQR.1f b &
AB = 18 cm, then corresponding length
of PQ i1s:
() 14 cm (/) 8 cm
te) 10 cm (eft 12 cm

Y1 In the given figure, DE || AC, which of

the following is true?

B
/\
E o)
X
b
c Y A
a+b ax
(@)x= e (b)y = ik
= 2 =
{e)x o (d)y_b
[CBSE 2012)

4 2. In the following figure, DE || BC. Find
the value of x.

& \rg
() 7.
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b3 Ifsin 0= %, then the value of

1l cos 0 = g—, then cosec 6 18 equal to:

b _ v
(tan O + cot 0)% is (a) p (b) b2 _ a?
((!"-1—6' (1))—8- b2—02
{¢) 4 (cf) 10 2 s
¢ 3 3" [CBSE 2012]
s _ b ral f
L} 1f8 = 45°, then the value of e 0 ,COSZB i, [P €6t @ = a’ thien 10 Ve 0
sin 20 cos58+sin O ia
i) 0 (hr1l cos 0 -sin ©
ic) 2 (]} on. (a,b—a b)b-a
) b+a
L5 If sin 8 — cos 8 = 0, then the value of b+a
sin® 0 + cos? 0 is fe}b +a (d) b-a’
| 1 )|
() ' 1
l - P (6) Z S5LIf cos 6 = > then the value of
‘ 3 cot®+tanp
| fe) Z {(el) 1 [CBSE 2012) cosec 0
; _ fer) 1 th) 3
Ji ¢ 1f tan 8 + cot 8 = 5, then the value of | () 2
tan? 8 + cot? 6 is: '

() 23 (h)25
(c) 27 ()15 |CBSE 2012]

L, Iftan 8 + cot 8 = 2, then tan? 0 + cot? 0
181

(n)4 ' 16
(e) 2 «h1 [CBSE 2012]

1
8 If cosec 8 —cot 0= 3 then the value of

cosec O + cot D is:

() 4 ("N %-
(e)1 (d)-1 |CBSE 2012]

’S‘Z.IfacosB+bsinB=munda_sinG

—bcosB=n,thena? +b%=
(a) m? —n? (b)n? - m?

(¢) m? + n? (¢l) m3n2.

573,If x = r sin 8 cos ¢, y = r 8in 0 sin ¢ and
z=rcos O, thenx? +y%+2%=

(a)r (b)yr?

(c) 53. (cl) 272,
2

5 Ifcosec ® =2 and cot 0 = Jgp , where ‘0’
is an acute angle, then the value of ‘p’
i8:

()2 (h)1

(c) 0 () V3 [CBSE 2012
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55.The radius of a circle is 21 cm. Find its

&

5F

area.

(a) 1386 cm? (h) 2r(21) em?

T s n
(©-@D? em?  (d) %(zu- cm?

The diameter of a semicircle is 8 cm.
Its area is

(@) 2n cm?
(¢) 8m cm?

th) 47 cm?
(d) 16% cm?

The radii of two concentric circles are
6 cm and 4 cm. Find the ratio of their
areas.

(e)9:4

(c)9:2

61 3:4
(d)9:16

N

59,

The minute hand of a clock is of length

4 cm. Find the angle swept by the
minute hand in 15 minutes.

(a) 90° (b) 30°
(c) 45° (d) 60°.
Find the area of the major segment of a

circle if the area of the minor segment
is 25 cm? and the area of the circle is

- 100 cm?.
(a) 25 cm? (b) 100 cm?
(¢) 75 cm? () 50 cm?.

G0,

In a circle of diameter 42 cm, if an arc
subtends an angle of 60° at the centre

where T = %2- , then length of arc is:

9
(@) 11 cm (b) 27 i

{c) 22 cm {d)44 em

[CBSE 2012)

6) In given figure, there is a circle with
centre O and radius 3.5 cm, the central
angle is 60° then the length of OAPB
is:

() 35 em (h)32.08 cm

(c) 10.66 cm () 18.33 cm
_/”-—\\\

[CBSE 2012]

G2 The perimeter of a sector of a circle
whose central nngle is 90° and radius

7 cm is:
(at) 35 cm (6) 25 em
()77 cm ()7 em

IM"DOD anynn
63, In the following figure, O is the centre
of the circle. The area of the sector

OAPB is -1%— part of the area of the

circle, IFind the value of x.

(a) 30°
(c) 45°

(b) 60°
(d) 100°,

&4,

The radius of a circle is 5 ¢cm. Find the
arca of the sector formed by an are of
this circle of length 9 em.

{a) 45 cm? (b) 22,5 cm?
{c} 67.56 cm? (d) 2,25 em?2
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&5 If probability of happening of an event is

€6

6F
68

69.

5 7, What is the probability that the first
9" then the probability of non-happen- | snowfall in Srinagar next winter will

ing of this event is take place on Sunday?

(@0 ®) 1 L 2
4 9 : !

(© 5 3 ICBSE2012) |, % W) '?;

If the probability of an event is p, the

praobability of non happening of event 711f the probability of the non-happening

of an event is g, then the probability of

is
(@p-1 ®)p happening of that event is
4 (a)1l-q (blq
(€)1- 1=
i & P (¢) C—ZZ- () 2q.

CBSE 2012
l ]7zlf probability of success is 0.5%, then

Ifthe probability of an event is 0.65, then  probability of failure is
the probability of not happening of that

event is (@) 0.95 (b) 0.095
(a) 0.35 (b) 0.035 ic) 99.5 (e/) 0.995
(c) 1.25 (@)3  [CBSE2012] [HOTS| |CBSE2012]

The probability that it will rain tomorrow : -
i50.3. What is the probability that it will 734 girl calculates the probability of her
winning the game in a match is 0.08.

not rain tomorrow? ) = h
What is the probability of her losing the

(a)0.3 (6)0.2 A
() 0.7 (d) 0.07 game:
((' ( %
Two friends were born in the year 2000. ) 91% b) 8%
The probability that they have thesame (¢} 92% () 80% |CBSE 2012]
birth date i
; 18 e . 4. If p(E) = 0.05, then p(not E) is equal to
—_— P ', '
(a) 5500 (b) 765 =005 i 0,08
1 1 (e10.9 (/1095 [CBSE2012
(c) — (d) —
365 366

[HOTS| ICRSE20121
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